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Question 1: 
 

Show that (𝑥 − 1) is a factor of 

𝑥3 − 6𝑥2 − 𝑥 + 6 and hence factorise it 

fully. 
 

7∙1 Bronze Outcome 1 

 

 

Question 2: 
 

Show that the line y = 5x + 2 does  

not intersect the parabola with  

equation y = x² + 2x + 9. 
 
 

8∙5 Gold Outcome 3  

 

Question 3: 
 

Find the coordinates of the stationary 

points of the curve with equation  

 𝑦 = 2𝑥³ − 15𝑥² + 8  and determine  

their nature. 

 

 

 

 

 

 

 
 

6∙5 Bronze Outcome 1 

6∙5 Silver Outcome 2 

 

 

Question 4: 
 

Show that the line y = x - 1 is a tangent 

to the circle x² + y² - 8x + 6y + 7 = 0  

and find the coordinates of the point  

of contact. 
 

 

 

 

 

 

 

 

 

11∙3 Silver Outcome 2 

 

Question 5: 
 

Solve 2x² + 5x - 3 < 0. 
 

 

 

 

 
 

8∙3 Gold Outcome 3 

 

 

My score: 
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Exam Questions  
Question 1: 
 

 
 
 

 

 

 

 

 

 

Question 2: 

 
 
 
 
 
 
 
 
 
 

 

Question 3: 
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